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Horizontal Reflection
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Remember: Positive Open up to the Right
Remember: Negative exponents and fractions with positive exponents Down to the Right

Vertical Reflection

Vertical Reflection and
Horizontal Reflection

𝐷𝑜𝑚𝑎𝑖𝑛: 𝑥𝐸𝑅 Eg. Time* 𝑡 ≥ 0

𝑥 → +∞
𝑦 → +∞

𝑥 → −∞
𝑦 → 0

𝐻𝐴:

𝑦 = 0

End Behavior

𝑥 → +∞
𝑦 → 0

𝑥 → −∞
𝑦 → +∞
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𝑦 = 2௫
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𝑦 = 2௫ − 2

𝑦 = 2௫ିଵ

Right One

Down 2

𝑦 = 2(2௫)

Vertical Expansion = 2

𝑦 × 2

𝑥 + 1

𝑦 − 2

𝑦 = 𝐶௫ ± 𝐻𝐴

𝐻𝐴:

𝑦 = −2

𝑦 = 2ଶ௫

Horizontal Compression = 1/2 

𝑥 ÷ 2

௕(௫ି௛)

𝑦 ≻ −2

Range

Domain
xER 
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